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(a) (-1,0).(L.0) (b) x-axis, y-axis, origin 16, ( )
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2.2 Exercises

15.
™ (i
17. (2) (-— é—.(JJ.((L 1), (—_).t)} (b) y-axis 18. (a) (-2
P ~%0), (0, -
(©, '}’}‘(2.”}

19. (a) (0.0) (b) x-axis 20. (@) (—=2,0),(2,0),(0 “2.00
' H0.2) (b x
o kaxis

1,0) (b) none 22. (a) (0,0) (b) none 23, ( N
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28. (0,0) 2 - b
(0,0) and (1,—1) are on the graph. 29, ~axis v
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21. (a) (

24. (a) (0,0) (b) origin  25. (a) none (b) origin 26, (
- (a) none

(b x

27. (0,0) is on the graph.

30. (0,1) and (—1,0)areon the graph. 31. (0,2) and (V2, \/3 on

ad (2,0) are on the graph. 33. (0,0) symmetric with respect to the y-axis 34, (0,0); s‘ym : ﬂr-c on the graph, ¢

ect to the origin » Symmetric with respect ¢

th respect to the y-i the x.a

ect to the x-axis, y-axis, and origin

axis, y-axis, and origin 41 (0,-27),(3,0); no symm
Symmetry

43. (0,—4),(4,0),(—1,0); no symmetry

36. (0,0): symmetric with respect to the origin

) symmctric with resp

nmetric Wi xis  38. (—4,0),(0,—2),(0,2); symmetric with r

(2,0),(0,73). (0,3): symmetric with resp CSPECLLO the x.gy;
2). (0, 2); symmetric with respect to the x-
pect to the y-axis
45. (0,0); symmetric with respect to the origin

47. (0,0); symmetric with respect to the y-axis 48, (0,0)
7 e AT no symmery
Ty

—1); symmetric with res

ith respect to the y-axis
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Vx2andy = x| are the same.
f the yariable X isall real nit

(b) Since V! = |x], for all x, the graphs of y =
x, the domain O

( = i
¢) For y = (Vx)%, the domain of the variable x is x = 0; fory =
Thus, (Vx)? = x only for x = 0.

d =
() i ‘;f y \/‘_2/?. the range of the variable y is
50. VX' = |xI, which equals x only if x = 0.
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y = 0;for y = x, the range of the variable ¥ isall 7




